R6.1 R6.2 R6.3 R6.4 R6.5 R6.6 R6.7 R6.8 R6.9 R6.10 R6.11 R6.12 Host
DiEH T — T VRE (CAG)
S 45 61 42 53 31 33 53 45 51 52 58 65 589
BE 99 87 119 107 109 118 105 97 78 102 95 114 1230
BRENEERA > 2 —~> >3 (PCI)
%2 26 39 18 30 23 12 31 29 29 30 32 38 337
BE 27 18 38 36 29 41 25 34 26 31 41 39 385
RIEED AR A (EVT)
Z2 2 2 3 1 2 2 14
Pk 8 7 11 6 4 11 8 3 3 7 7 13 88
R—Z 4 —H—HEAH(PMI)
22 0
Pk 11 9 11 12 8 13 7 12 5 13 8 114
77— 3 vk (ABL)
22
BE 60 59 66 70 62 56 56 49 44 51 70 65 708
21KD CAG 144 148 161 160 140 151 158 142 129 154 153 179 1819
2{Ko PCl 53 57 56 66 52 53 56 63 55} 61 73 7 722
2R EVT 10 7 13 6 4 13 8 6 4 9 7 15 102
2{kn PMI 11 9 11 12 8 13 7 12 5 13 8 114
£{KD ABL 60 59 66 70 62 56 56 49 44 51 69 65 707
2{kn TAVI 3 10 7 6 4 8 7 4 7 3 5 68
2{kD MitraClip 1 1 1 2 1 2 2 12
CAG (E4h) 91 91 105 94 88 98 102 79 74 93 80 102 1097
DN T — T IVIRE (CAG) BENBEIRKA > & —~_> 3 3 »(PCl)
200 179 100
180 161 160 %
160 144 148 140 156 158 . 154 153 %0 5 7
140 129 70 66 63 61
120 60 53O 56 5 53 56 55
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40 H H 20 31
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: g 0
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o %2 e B% At oD R2 = B% aFt
DA T — T ILiRE BEIR(CAG Eh) R EN AR B IR (EVT)
20
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100 91 91 9% g0 93 “ - 2
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w0 74 o X . 9
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4 © 4 4
4
: " - T 0 g
2 27
) g :
1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12
B %B o@ @m A o B2 ow @% A
R— R A —H —HEAF(PMI) T 7L — 3 A (ABL)
70 70
70 66 65
14 13 13 60 59 62
12 12 60 56 56
21 1 49 51
10 9 0 2
8 8
3 7 40
6 5 5 0
4 20
2 10
0 0
1 2 3 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12
0 %2 m 8% At 0D %2 e &% A&t
BT — T IVRENRI BB BT (TAVI) BREKIEESRFZ VU v 7Hi(MitraClip)
16 16
14 14
12 12
10
10 10
8
8 7 7 7 8
6
6 5 6
4 4 4
43 3 4
2 1 1 1 1
[ B el as, Ba,  BHE
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